1.2 Measuring and Constructing Segments
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3. Find AB 6.
A 8 c o Bis between A and C, AC= 15.8, and AB = 9.9. Find BC
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8 Travel If a picnic area is located at the midpoint Roseville 5
between Sacramento and Oakland, find the distance Sacramento 23
to the picnic area from the road sign. Oakland 110

9. Multi-Step Kis the midpoint of JI, JL = 4x - 2,
and JK = 7. Find x, KI, and JL

10. Ebisects DF, DE = 2y, and EF = 8y - 3. Find DE, EF, and DF.
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Multi-Step Eis the midpoint of DF, DE = 2x + 4, and EF = 3x — 1.
Find DE, EF, and DF.

Use the diagram below. If )= DF, E bisects DE, and CD = 14.2. Find EF.

True or False?  If Mis between A and B, then M bisects AB.
Draw a picture to support your answer.

Cis the midpoint of AD. 8 is the midpoint of AC. BC = 12. M
What is the length of AD?
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A, B, C, D, and E are collinear points. AE = 34, BD = 16, o p e D E
and AB = BC = CD. What is the length of CE? B
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